
Which of the following is not the “Tri Ratna” of Jainism ? (SSC CISF Constable (GD) Exam. 

05.06.2011)  

 (1) Right faith  

(2) Right knowledge 

(3) Right view  

(4) Right conduct  

  

 

 Who among the following was the pioneer of Yoga ?(SSC CISF Constable (GD) Exam. 

05.06.2011) 

(1) Patanjali  

 (2) Vagbhata 

 (3) Atreya  

 (4) Vrudukanta  

  

 

 Mahavira’s first disciple was (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting) 

(1) Bhadrabahu  

 (2) Sthulabhadra 

 (3) Charvaka  

 (4) Jamali  

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting) 

 For More Questions Visit New Website- https://sarkari.result-india.com  

 For Full Answer Solution Comment On Sarkari Result India We Will Provide You 

Link 

 These Questions Are Asked In SSC Constable GD Exam In Previous Year. 

 



 

 

 Vardhman Mahavir is also known as(SSC Constable (GD) Exam. 12.05.2013, Ist Sitting)  

(1) Jena 

 (2) Great teacher  

 (3) Great preacher 

 (4) Jain  
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 Which one of the following is not included in the ‘Eight Fold Path’ of Buddhism ? (SSC 

Constable (GD) Exam. 12.05.2013) 

(1) Right Speech  

 (2) Right Contemplation  

 (3) Right Desire  

 (4) Right Conduct 

 

 

 Which of the following dynasty succeeded the Mauryas ? 

 (1) Satavahanas  

 (2) Sungas  

 (3) Yavanas  

 (4) Pandya  

 (SSC Constable (GD) Exam. 12.05.2013)  

  

 Who was the author of Telugu Work Amuktamalyada ?  



 (1) Harihara  

 (2) Devaraya  

 (3) Krishnadevaraya  

 (4) Bukka  

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

 

For More Questions Visit New Website- https://sarkari.result-india.com  

  

Who of the Delhi sultans pursued the policy of ‘blood and iron’ ?  

 (1) Alauddin Khilji  

 (2) Ghiyasuddin Tughlaq  

 (3) Balban  

 (4) Iltutmish 

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

 

 The greatness of Shershah lies in his :  

 (1) Secular attitude  

 (2) Victories against Humayun  

 (3) Superior generalship  

 (4) Administrative reforms  

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

  

 Who is commonly known as the Iron Man ?  

 (1) Sardar Vallabh Bhai Patel  

 (3) Vittal Bhai Patel  



 (2) Bal Gangadhar Tilak  

 (4) Bipin Chandra Pal  

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting) 

 

 Gandhiji withdraw the Non Cooperation Movement due to  

 (1) Chauri-Chaura Incident  

 (2) Champaran Movement  

 (3) Kakori Conspiracy  

 (4) Bardoli Movement 

 (SSC Constable (GD) Exam. 12.05.2013) 
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 Dadabhai Naroji has described his theory of ‘Drain of Wealth’ in the book. 

 (1) Poverty and Un-British Rule in India  

 (2) British Rule and its Consequences 

 (3) Exploitative Nature of British Rule in India  

 (4) Nature of British Colonial Rule  

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

 

 When was the office of District Collector created ?  

 (1) 1786  

 (2) 1772  

 (3) 1771  

 (4) 1773  

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 



 

 Who established the ‘Sharda Sadan’, a school for Indian Widows in colonial India ? 

(1) Mahadev Govind Ranade  

(2) Sarojini Naidu  

(3) Dayanand Saraswati  

(4) Pandita Ramabai 

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

 

 “The word impossible is found in the dictionary of fools” was the famous quote of : 

 (1) Hitler  

 (2) Alexander the Great  

 (3) Julius Caesar  

 (4) Napoleon  

 (SSC Constable (GD) Exam. 12.05.2013) 
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 Democracy is a “government in which everyone has a share” was the opinion of :  

 (1) Jeovans  

 (2) Seeley  

 (3) Plato  

 (4) Abraham Lincoln  

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting)  

  

 “Bhangra” is a dance of  

 (1) Haryana  



 (2) Rajasthan  

 (3) Delhi  

 (4) Punjab  

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting) 

 

 “Dandia” is a popular dance of  

 (1) Gujarat  

 (2) Assam  

 (3) Jharkhand  

 (4) Maharashtra  

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting) 

 

For More Questions Visit New Website- https://sarkari.result-india.com  

  

The concurrent list in the Indian Constitution is adopted from the Constitution of  

 (1) U.S.A.  

 (2) Canada 

 (3) Germany 

 (4) Australia 

 (SSC CISF Constable (GD) Exam. 05.06.2011) 

 

 Which is the most important system in Democracy ? 

 (1) Social 

 (2) Political 

 (3) Economic 



 (4)Governmental  

 (SSC Constable (GD) Exam. 12.05.2013) 

 

 “Not to destroy the Government property” is a  

 (1) Positive duty  

 (2) Legal duty  

 (3) Civil duty  

 (4) Negative duty  

 (SSC CISF Constable (GD) Exam. 05.06.2011) 

 

 Who proposed the Preamble before the drafting committee of the Constitution ?  

 (1) Jawaharlal Nehru  

 (2) B.R. Ambedkar 

 (3) B.N. Rao  

 (4) Mahatma Gandhi  

 (SSC CISF Constable (GD) Exam. 05.06.2011) 

 

 Citizens of India can vote at the age of  

 (1) 18 years  

 (2) 21 years  

 (3) 22 years  

 (4) 25 years  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting) 

 

 What is meant by social justice?  



 (1) All should have same economic rights.  

 (2) All should have same political rights.  

 (3) All kinds of discrimination based on caste, creed, colour and sex should be eliminated. 

 (4) All should be granted right to freedom of religion.  

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting) 

 

 _____ are essential for liberty. 

 (1) Restrictions  

 (2) Rights  

 (3) Privileges  

 (4) Laws  

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting) 

 

 The Ministers in the Union Government hold office during the pleasure of the  

 (1) Lok Sabha  

 (2) President  

 (3) Parliament  

 (4) Prime Minister  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting) 

For More Questions Visit New Website- https://sarkari.result-india.com  

 

 

 The first President of independent India was:  

 (1) Dr S. Radha Krishnan  

 (2) J.L. Nehru  



 (3) Sardar Patel  

 (4) Dr Rajendra Prasad (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

 

 The Governor of an Indian State is appointed by the  

 (1) President of India 

 (2) Prime Minister 

 (3) Chief Justice of High Court  

 (4) Chief Minister of the State  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting) 

 

 A State cannot exist without 

 (1) Democratic government 

 (2) Parliamentary government  

 (3) Presidential government  

 (4) Some kind of government  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting) 

 

 When was the First Gerneral Election to the Lok Sabha held ? 

 (1) 1950 – 51  

 (2) 1951 – 52  

 (3) 1952 – 53  

 (4) 1956 – 57 

 (SSC CISF Constable (GD) Exam. 05.06.2011) 

 

 District Judge is under the control of  



 (1) State Government  

 (2) High Court  

 (3) Supreme Court 

 (4) Governor (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting) 

For More Questions Visit New Website- https://sarkari.result-india.com  

 

 What is the system of Local Self Government in the Panchayati Raj set up ? 

 (1) Four tier system at the village, block, district and State level  

 (2) Three tier structure at village, block and district level  

 (3) Two tier system at village and block level  

 (4) Single tier set up at village level (SSC Constable (GD) Exam. 12.05.2013)  

  

 Tundras are 

 (1) Deciduous forests 

 (2) Tropical rain forests  

 (3) Cold deserts 

 (4) Hot deserts  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting)  

  

 Tides in the sea are caused by  

 (1) effect of Sun  

 (2) effect of Moon 

 (3) eombined effect of Moon and Sun 

 (4) gravitational force of Earth and Sun 

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting) 



 

 The smallest ocean is : 

 (1) Atlantic  

 (2) Pacific  

 (3) Indian  

 (4) Arctic 

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

 

 Rubber plantations are found in  

 (1) Temperate forests  

 (2) Mountain regions  

 (3) Polar regions  

 (4) Equatorial regions 

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting) 

 

 The sea which existed in the place of the Himalayas was  

 (1) Red Sea  

 (2) Arabian Sea 

 (3) Tethys Sea 

 (4) Dead Sea  

 (SSC CISF Constable (GD) Exam. 05.06.2011  
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 Srinagar is located on the bank of the river  

 (1) Indus 



 (2) Jhelum 

 (3) Chenab 

 (4) Ravi  

 (SSC CISF Constable (GD) Exam. 05.06.2011) 

 

 Cauvery water sharing is a dispute between  

 (1) Karnataka and Andhra Pradesh  

 (2) Tamil Nadu and Andhra Pradesh  

 (3) Tamil Nadu and Karnataka  

 (4) Karnataka and Maharashtra  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting)  

  

 The river known as Padma in Bangladesh is  

 (1) Jamuna  

 (2) Ganga  

 (3) Teesta  

 (4)Brahmaputra  

 (SSC Constable (GD) Exam. 12.05.2013) 

 

 Bailing, mustering and shearing are some activities connected with 

 (1) Rearing of Lama 

 (2) Cotton cultivation 

 (3) Sheep rearing 

 (4) Poultry farming  

 



 

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912) (Ist Sitting)  

  

 India has the monopoly in the International market in the supply of  

 (1) Iron  

 (2) Mica  

 (3) Bauxite 

 (4) Copper  

 (SSC CISF Constable (GD) Exam. 05.06.2011) 

 

 The second largest producer of cotton textiles in India is 

 (1) Maharashtra 

 (2) Tamil Nadu 

 (3) Andhra Pradesh  

 (4) Gujarat (SSC Constable 

 (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting) 

 

 In how many denominations is Indian paper currency printed at present ?  

 (1) 9  

 (2) 8 

 (3) 7  

 (4) 6  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting)  

  

 ‘Self Reliance’ was the main objective of  



 (1) Fourth Plan  

 (2) Seventh Plan 

 (3) Third Plan 

 (4) Sixth Plan  

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting) 

 

 How does agriculture promote the Indian industrial development ? 

 (1) By opening up market for industrial products  

 (2) By providing food and clothing to labourers  

 (3) By supplying raw materials  

 (4) All of the given options  

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 
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 Wage fund theory was propounded by  

 (1) J.B. Say  

 (2) J.S. Mill  

 (3) J.R. Hicks  

 (4) J.M. Keynes  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting) 

 

 The expenses on advertising is called 

 (1) Implicit cost  

 (2) Surplus cost  

 (3) Fixed cost  



 (4) Selling cost 

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting)  

  

 Name the curve which shows the quantity of products a seller wishes to sell at a given price 

level. 

 (1) Demand curve  

 (2) Cost curve  

 (3) Supply curve  

 (4) None of these  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting)  

  

 The supply of labour in the economy depends on  

 (1) Population  

 (2) National income  

 (3) Per capita income  

 (4) Natural resources 

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting)  

  

 Production function refers to the functional relationship between input and ___.  

 (1) product  

 (2) produce  

 (3) output  

 (4) service 

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting)  

  

 manmade instrument of production as : 



 (1) organization 

 (2) capital 

 (3) equipment  

 (4) labour  

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 
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 Price mechanism is a feature of 

 (1) Capitalist economy 

 (2) Barter economy  

 (3) Mixed economy  

 (4) Socialist economy  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting) 

 

 The main feature of a capitalist economy is 

 (1) Administered prices  

 (2) Public ownership  

 (3) Economic planning 

 (4) Private ownership 

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting) 

 

 Deflation is a situation in which  

 (1) The value of money is falling.  

 (2) The price of goods is increasing. 



 (3) The value of money is increasing.  

 (4) The price level is stagnant.  

 (SSC Constable (GD) Exam. 12.05.2013) 

  

 The Cash Reserve Ratio is a tool of : 

 (1) Monetary policy  

 (2) Tax policy 

 (3) Agricultural policy  

 (4) Fiscal policy  

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting  

  

 The most accessible mediumin India is  

 (1) Television  

 (2) Radio  

 (3) Cinema  

 (4)Newspapers  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting) 

 

 As we go from Equator to North pole the value of ‘g’, the acceleration due to gravity  

 (1) remains the same  

 (2) decreases  

 (3) increases 

 (4) None of the above (SSC CISF Constable (GD) Exam. 05.06.2011) 

 

 Shaving mirror is 



 (1) Convex 

 (2) Concave  

 (3) Plane  

 (4) Parabolic  

 (SSC CISF Constable (GD) Exam. 05.06.2011) 

 

 A micron is equal to  

 (1) 0.1 mm  

 (2) 0.01 mm  

 (3) 0.001 mm 

 (4) 0.0001 mm  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting)  
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 Persons suffering from myopia are advised to use  

 (1) convex lens  

 (2) concave lens  

 (3) plano-convex lens  

 (4) plano-concave lens  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting) 

 

 A light year is a unit of  

 (1) time  

 (2) distance  

 (3) speed of light  



 (4) intensity of light 

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting) 

 

 An instrument that records earthquakes is 

 (1) Ergograph 

 (2) Ediograph  

 (3) Thermograph  

 (4) Seismograph  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting) 

 

 Velocity of sound in air does not depend on  

 (1) Density of air 

 (2) Temperature of air  

 (3) Pressure of air 

 (4) Humidity of air 

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting) 

 

 A dynamo is used to convert  

 (1) mechanical energy into electrical energy  

 (2) electrical energy into mechanical energy  

 (3) electrical energy into magnetic energy  

 (4) magnetic energy into mechanical energy  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting) 

 

 Outside of cooking utensils are generally left black from below because  



 (1) it is difficult to clean daily.  

 (2) black surface is a good conductor of heat. 

 (3) black surface is a poor conductor of heat.  

 (4) black surface is a good absorber of heat.  

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting) 

 

 The colour of sky appears blue due to  

 (1) reflection  

 (2) refraction  

 (3) scattering of shorter wave lengths  

 (4) dispersion  

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting  

  

 What is a compound microscope? 

 (1) A microscope that has one lens.  

 (2) A microscope that has two sets of lenses : an occular lens and an eyepiece. 

 (3) A microscope whose lenses are concave.  

 (4) A microscope whose lenses are convex.  

 (SSC Constable (GD) Exam. 12.05.2013)  
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 Sensitivity of the human eye is maximum in the  

 (1)Violet region  

 (2) Green region  

 (3) Blue region  



 (4) Red region  

 (SSC Constable (GD) Exam. 12.05.2013) 

  

 The speed of light in air is  

 (1) 3 × l08 m/s  

 (2) 3 × l 0–8 cm/s  

 (3) 8 × l03 m/s  

 (4) Infinity 

 (SSC Constable (GD) Exam. 12.05.2013) 

 

 Which one of the following is a non-dimensional quantity?  

 (1) Gas constant  

 (2) Strain 

 (3) Co-efficient of viscocity 

 (4) Plank’s constant (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

 

 When water freezes its density  

 (1) Decreases  

 (2) Becomes Zero  

 (3) Remains constant 

 (4) Increases  

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

 

 The element used for making solar cells is  

 (1) Magnesium  



 (2) Sodium  

 (3) Calcium  

 (4) Silicon  

 (SSC CISF Constable (GD) Exam. 05.06.2011)  

  

 Iron is extracted from 

 (1) Cinnabar 

 (2) Haematite  

 (3) Bauxite  

 (4) Dolomite 

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting)  

  

 Which of the following imparts a blue colour to glass ?  

 (1) Cabalt oxide 

 (2) Copper oxide 

 (3) Iron oxide 

 (4) Nickel oxide  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting) 

 

 A matured mammalian cell without nucleus is  

 (1) Lymphocyte  

 (2) Erythrocyte  

 (3) Spermatozoan  

 (4) Oocyte  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting)  



  

 The most common cause of pollution of air is  

 (1) Carbon dioxide 

 (2) Carbon monoxide 

 (3) Sulphur dioxide 

 (4) Smoke  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting) 

 

 The process by which milk is converted to curd is called  

 (1) Pasteurization  

 (2) Vernalization 

 (3) Fermentation  

 (4) Retting  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting)  

  

 The technique of calculating the age of fossil organisms is  

 (1) Radiocarbon dating  

 (2) Electroporation  

 (3) Counting the annual rings  

 (4) Micromanipulation  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting)  
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 Nitrogen forms a variety of compounds in all oxidation states ranging from  



 (1) –3 to + 5  

 (2) –3 to + 3  

 (3) –3 to + 4  

 (4) –3 to + 6  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting) 

 

 The next higher homologue of C6H14 is  

 (1) C7H14  

 (2) C7H12  

 (3) C6H12  

 (4) C7H16 

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting) 

 

 Which metal is the heaviest in periodic table among the following ?  

 (1) Os 

 (2) Pt  

 (3) Pb 

 (4) W  

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting)  

  

 The important metal used with iron to produce stainless steel is 

 (1) Aluminium 

 (2) Chromium 

 (3) Tin 

 (4) Carbon  



 (SSC Constable (GD) Exam. 12.05.2013) 

 

 The name of unreactive gas is  

 (1) Carbon dioxide 

 (2) Hydrogen 

 (3) Nitrogen  

 (4) Oxygen  

 (SSC Constable (GD) Exam. 12.05.2013) 

 

 Heavy water is so called because it contains 

 (1) Heavy isotope of hydrogen  

 (2) Heavy isotope of oxygen  

 (3) Mole number of hydrogen atoms  

 (4) Mole number of oxygen atoms  

 (SSC Constable (GD) Exam. 12.05.2013) 

 

 Glass is soluble in  

 (1) H2SO4 

 (2) HClO4  

 (3) HNO 3 

 (4) HF  

 (SSC Constable (GD) Exam. 12.05.2013 

 

 Acid rain is caused by  

 (1) SO2 and particulates  



 (2) NO2 and particulates  

 (3) CO2 and CFCs 

 (4) SO2 and NO2  

 (SSC Constable (GD) Exam. 12.05.2013) 
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 Chemical composition of heavy water is :  

 (1) H2O2 

 (2) H2O  

 (3) HDO  

 (4) D2O  

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

 

 Oxide of sulphur present in the atmosphere are washed down by rains to cause :  

 (1) Depletion of fossil fuel reserves  

 (2) Eutrophication in lakes  

 (3) Lowering of pH of soil  

 (4) Industrial smog formation  

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

 

 The acid which fails to liberate carbon dioxide from sodium bicarbonate is : 

 (1) Acetic acid  

 (2) Formic acid  

 (3) Carbonic acid  

 (4) Sulphuric acid  



 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

 

 What causes common cold ?  

 (1) Bacteria  

 (2) Fungi 

 (3) Virus  

 (4) Protozoa 

 (SSC CISF Constable (GD) Exam. 05.06.2011) 

 

 Number of teeth which are replaced in man are  

 (1) 12  

 (2) 20  

 (3) 32  

 (4) 16  

 (SSC CISF Constable (GD) Exam. 05.06.2011) 

 

 Which of the following is used for wrapping of fractured bones? 

 (1) White cement 

 (2) White lead 

 (3) Zinc oxide  

 (4) Plaster of Paris  

 (SSC CISF Constable (GD) Exam. 05.06.2011) 

 

 Which one of the following is a water borne disease ? 

 (1) Diabetes 



 (2) Cholera 

 (3) Small Pox  

 (4) Malaria  

 (SSC CISF Constable (GD) Exam. 05.06.2011) 

 

 Itai-itai disease is due to poisoning caused by  

 (1) Mercury  

 (2) Arsenic 

 (3) Cadmium  

 (4) Asbestos  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting) 

 

 Blue-green algae are included in the group  

 (1) Eubacteria 

 (2) Cyanobacteria 

 (3) Protozoa 

 (4) Fungi 

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting) 

 

 Haemoglobin contains the metal  

 (1) Copper  

 (2) Molybdenum 

 (3) Iron 

 (4) Magnesium  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting  



  

 ‘Comose’ seeds are seeds with  

 (1) Long hairs 

 (2) Wings 

 (3) Bristles  

 (4) Hooks  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting) 
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 Activity of an enzyme can be modulated by change of  

 (1) pH  

 (2) Light 

 (3) Humidity 

 (4) Rainfall 

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting) 

 

 Proteins are digested by 

 (1) Proteases  

 (2) Amylases 

 (3) Lipases  

 (4) Nucleases 

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting)  

  

 Jaundice is a disease which affects  

 (1) Heart 



 (2) Liver 

 (3) Spleen 

 (4) Gall bladder 

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting)  

  

 Cholesterol is absent in  

 (1) Groundnut oil  

 (2) Butter oil  

 (3) Butter milk  

 (4) Ice Cream (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting) 

 

 Approximate life span of parrot is 

 (1) 20 years 

 (2) 40 years  

 (3) 70 years  

 (4) 140 years 

 (SSC Constable (GD) Exam. 12.05.2013)  

  

 Tendons and ligaments are 

 (1) Connective tissue 

 (2) Muscular tissue 

 (3) Epithelial tissue  

 (4) Skeletal tissue 

 (SSC Constable (GD) Exam. 12.05.2013) 

 



 A plant with 30 cm or more circumference from human chest height is identified as 

 (1) Herb 

 (2) Shrub  

 (3) Medicinal herbs 

 (4) Tree (SSC Constable (GD) Exam. 12.05.2013) 

 

 The skin biting mosquito has legs as locomotory organ which are 

 (1) Four pairs 

 (2) Three pairs 

 (3) Two pairs  

 (4) One pair  

 (SSC Constable (GD) Exam. 12.05.2013) 

 

 The presence of pollutants in the environment is usually expressed in ppm, where ppm 

stands for:  

 (1) particles per mole  

 (2) purity per microgram 

 (3) pollutant prevent measures  

 (4) parts per million  

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting)  

  

 Which one of the following is an autotroph?  

 (1) Butterfly  

 (2) Algae  

 (3) Grasshopper  

 (4) Mushroom 



 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

 

 A ‘Bit’ refers to 

 (1) Binary informatics  

 (2) Bilingual information  

 (3) Binary terminator  

 (4) Binary digit 

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting)  

  

 _______ allows users to access accounts and pay bills 

 (1) Distance Learning  

 (2) Online Banking  

 (3) E-Commerce 

 (4) Multimedia  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting) 

For More Questions Visit New Website- https://sarkari.result-india.com  

 

 A col lection of HTML pages makes up the_______.  

 (1) Hyperlinks  

 (2) Hypertext 

 (3) World Wide Web  

 (4) Hypermedia  

 (SSC Constable (GD) Exam. 12.05.2013)  

  

 The term ‘URL’ used in Internet technology stands for : 



 (1) Uniform Resource Locater  

 (2) Unique Resource Locater  

 (3) Uniform Remote Locater 

 (4) Unique Remote Locater 

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

 

 Who discovered Solar System ?  

 (1) Newton 

 (2) John Hadley  

 (3) Copernicus 

 (4) Galileo 

 (SSC CISF Constable (GD) Exam. 05.06.2011) 

 

 Chief of the Indian Navy has the rank of  

 (1) General of Indian Navy  

 (2) Chief of Indian Navy 

 (3) Naval Chief 

 (4) Admiral  

 (SSC CISF Constable (GD) Exam. 05.06.2011)  

  

 The Industrial Revolution has led to  

 (1) Conservation of forests  

 (2) Increased pollution 

 (3) Conservation of wild life 

 (4) Ecological balance 



 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting) 

 

 

 Name the country which launched the first Satellite “Sputnik” into the space. 

 (1) United States of America  

 (2) Soviet Union  

 (3) Japan  

 (4) England 

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting) 

 

 Who of the following is not a recipient of ‘Bharat Ratna’? 

 (1) Morarji Desai 

 (2) Gulzari Lal Nanda  

 (3) Rajiv Gandhi 

 (4) Atal Bihari Vajpayee  

 (SSC CISF Constable (GD) Exam. 05.06.2011) 

 

 The Indian representing an international organization who shared the Nobal Peace Prize 

with Al Gore of U.S. was  

 (1) Rajendra Pachauri 

 (2) Viswanathan Subramanian  

 (3) R.N. Tagore  

 (4) Mother Teresa  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting)  

  

 The Magsaysay Award for social service was instituted by  



 (1) the Government of India  

 (2) the UNO  

 (3) the ILO  

 (4) Philippines Government  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting)  

  

 The author of ‘The Satanic Verses’ is  

 (1) Kushal Das 

 (2) Salman Rushdie  

 (3) Rammurthy  

 (4) John Grisham  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (IInd Sitting) 

For More Questions Visit New Website- https://sarkari.result-india.com  

 

 ‘Natya Shastra’ was written by 

 (1) Bharat Muni  

 (2) Narad Muni  

 (3) Jandu Muni 

 (4) Vyas Muni  

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting 

  

 Teachers Day is observed every year on 

 (1) 5th September  

 (2) 15th September 

 (3) 20th September  



 (4) 25th September 

 (SSC CISF Constable (GD) Exam. 05.06.2011) 

  

 The Headquarters of World Trade Organisation(WTO) is situated in: 

 (1) New Delhi  

 (2) Geneva, Switzerland  

 (3) London, UK 

 (4) Washington, USA 

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

 

 The headquaters of United Nations Organization is located at : 

 (1) Rome 

 (2) Geneva  

 (3) Washington 

 (4) New York  

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

 

 With which sport do you associate the name of Rod Laver ? 

 (1) Field Hockey  

 (2) Football  

 (3) Water-Polo  

 (4) Lawn Tennis  

 (SSC Constable (GD) & Rifleman (GD) Exam. 22.04.1912 (Ist Sitting)  

  

 “Ranji Trophy” is associated with  



 (1) Hockey  

 (2) Football  

 (3) Cricket 

 (4) Kabaddi  

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting) 

 

 For the first time Common-wealth Games were played during 1930 in 

 (1) London  

 (2) Canada  

 (3) Brazil  

 (4) Pakistan 

 (SSC Constable (GD) Exam. 12.05.2013) 

 

 Name the first Indian to be banned for using anabolic steroid in Olympic games :  

 (1) Pratima Kumari  

 (2) Aswini Akunji  

 (3) T. Sanmancha Chanu 

 (4) Sumitha Laha  

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting)  

  

 The National Tree of India is  

 (1) Neem  

 (2) Peepal 

 (3) Banyan 

 (4) Mango  



 (SSC CISF Constable (GD) Exam. 05.06.2011) 

 

 GUI stands for  

 (1) Graphical User Interface  

 (2) Graphical User Information  

 (3) Graphical User Interaction 

 (4) Graphical User Instruction  

 (SSC Constable (GD) Exam. 12.05.2013, Ist Sitting)  

  

 Which of the following countries has brought out a stamp on Mother Teresa to celebrate 

her birth anniversary ?  

 (1) India  

 (2) USA  

 (3) UK 

 (4) Pakistan 

 (SSC Constable (GD) Exam, 04.10.2015, Ist Sitting) 

 

For More Questions Visit New Website- https://sarkari.result-india.com  

 


